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Question 1- A person invested an amount of Rs. 16,000 divided in two

{0 different schemes A and B at the simple interest rate ¢f 14%)p.a. and
11% p.a. res ectively. If the total amount of simple interest earned in 2

years be R§. 4,000, what was the amount invested in Scheme B?

T 1- Teh Ak o 16,000 TG shT TIRT ol ST HAAT-STHT ASHIAT A ST B H

SHUST: 14% 9T a9 3R 11% Jid o9 aht Grermor sqret g€ w1 farrfsra feram)

1 2 N H TSI BTN SATS shi et UM 4,000 R 7, T AISHT B H AT

RIRERURICRIRIY A.Rs 4000
B7Rs 8000

C.Rs 6000
D.Rs 7000

https://t.me/mathbytarunsirmepl E. None of these
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Question 2- If simple interest on a certain sum of money for 4 years at

10% per annum 1s same as the simple interest on Rs. 500 for 10 years at

the rate of 8% per annum then the sum of money is:

T 2- e Weh T2 G-IIRT 9T 4 97 oh {e1T 10% Jiel 51N sht & & AT
SIS, 500 &9 T 10 N1 o TA 8% Tl oY hi S H ETERUT AT o THH
ar SeRTRT bt 82

A.Rs 1200
—B:Rs 1000

C.Rs 2000

D.Rs 3000

E. None of these

https://t.me/mathbytarunsirmepl
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Question 3- A sum of money amounts to Rs. 4200 after_3 years and Rs.
30 6000 after 6 years at the same rate of simple interest. The rate of interest

per annum 1S

T 3- HTOT SATST shl THT ST H Teh GHUINT 3 99 o o1 4200 T 3T 6 99
S8 6000 ® BLSITdT 81 Jfef I ST shi T HRIT &2

A.20%

B. 10%
L25%

D.30%

E. None of these

https://t.me/mathbytarunsirmepl
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Question 4- A person borrowed some money at the rate of 4% pa for the

——

first 4 years,6% for the next 3 years and 6% for the next 10 years. If the
total interest paid by him 1s Rs. 1692, how much money did he borrow
Ueh ST f<h < U8t 4 a1 oh ToTT 4% i ¥ ahl X H, 3TTeA 3 81 o el 6% 3R
T 10 N[ oh 17T 6% hl T H e 9 U Tl Fle 6ok G I fohal
T el SATST 1692 0 B, A1 36 Tehct=1 TRT 34T AT off?

\’

A.Rs 18,000
B. Rs 20,000
C. Rs 24,000
D.Rs 21,000

https://t.me/mathbytarunsirmepl’E'/NOne of these
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Question 5- A person takes a loan Rs.4000 at 5% simple interest. He n

returns Rs.1000 at the end of 1 year. How much amount he should pay to

clear the due 1n 2 years.
T 5- Uk SR 5% TTERT ST T 4000 TG T K07 AT 2| 98 1 99 o 37

T 1000 &9 TAITAT &1 2 ST H < TIRT AT WA i o f1e 34 feral i
T AT AT =AMET?

A.Rs 2360

B.Rs 4360

C.Rs 2220
—P.Rs 3360

E. None of these

https://t.me/mathbytarunsirmepl
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Question 6- A sum of s lent out into 2 parts, one at 12% and »
30 another one at 24%. If the fotal amount received Rs 3600 , Find the
money lent at 24% rate _5\7/4’\0’10(/’&

T 6- 3000 B9 <hT TRT 1 2 WITH H FEIR AT STIAT 8, Th 12% T 37 g8
24% T Ffe et TIRT 3600 FTH TTH el 8, Tl 24% 2h 3 W IUR &1 7T TR

RSP
T x A.Rs 1500
B.Rs 1200
I ”’(30@5 =X ) C.Rs 1400
“P-Rs 2000

E. None of these

https://t.me/mathbytarunsirmepl
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Question 7- Q investec@of his capital at 3% and the remainder at 7%

30 If his annual interest 1s Rs. 680, Find the capital
T 7- Q T AU YSIT T 1/3 T 3% IR Y 7% UL T foham| Al Seeht

TNk ST 680 ¥ &, q1 YSit 1l hifSr

A.Rs 11000
—B-Rs 12000
C.Rs 13000
D.Rs 14000

https://t.me/mathbytarunsirmepl E. None of these
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Question 8- If annual rate 1s of SI 1s increased from 8% to 11%, a man’s

3 \\0 yearly interest increases by R@ ind the Amount.

%” l T 8- TS FTERIT SATST shl ATk &L 8% T FGTHT 11% T 2 STl 7, ol Ueh
feh Skl AT oATST 1800 &I I STTdT 21 Torerer 3 hifsr

@ KZ = ‘?I&OO AWW\‘(\ l %[ 60@¢
1% =¥ boo
= l©o=/°: 600 X100 = 64660 e /% A.Rs 8800
= # 000n —— B.Rs 4800
° C.Rs 7800
D.Rs 9800
—E. None of these

https://t.me/mathbytarunsirmepl
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Question 9- A man divided his money in two parts such that

simple interest on first part at 4% per annum for 3 years 1s equal to

the simple interest on other part wer annum fer 4 years. In

which ratio man divided his money

Ueh <k 319 & okl & 9T H 39 Yoh forHTisId st 8 foh uget 9T
T 3 ST oh ToTT 4% i 99 ohl 2T W GTemoT ST, 4 991 o T4 5%
Sfl I shl U H ST AT G AT SATS o S 2| fohd 3AaTd |

3TTEHT 379 99 T faraiid shear 22 A 43
a0 4:

B.2:3
C.54
_Pb53

. E. None of these
https://t.me/mathbytarunsirmepl
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Question 10- A man divided his money in two parts such that amount in

e— —

2 years 1s equal to the amount in 3 year with a rate of simple interest of
10% per annum. In which ratio man divided his money.
T 10- Tsh Tk 3794 &9 bl &1 YT U 39 YohR [auTiSig sar e fer 2 i |

10% T IS shl |TEROT SATST & ok 91 2 91 | ST 3 I8 | UILT oF el 2
foR® ST H AT 379 9 i forTiSTd LT &

A.13:11
B.12:13

—€ 13:12
D.16:17
E. None of these

https://t.me/mathbytarunsirmepl
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Question 11- A sum of money becomes 7/3 of itself in 4 years at a

30 certain rate of interest. What 1s the rate of interest?
95 11- Teh FT3a saTeT X W Uk 9T 4 a6t U W 1 7/3 B AT 81 ST
T &L T 22
P>z — A= 3xRxH
Ao s I=4 o |{2)u A.12.5%

E;# = § = 3333y B.11.11%

— C.19.19%

—B-33.33%

E. None of these

https://t.me/mathbytarunsirmepl
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